Nivel superior sina existent
Existing top of rail level

Nivel superior sina proiectat

-1.000 %o

Nivel superior sina existent
Existing top of rail level

Nivel superior sina proiectat
Designed top of rail level

Nivel superior sina existent
Existing top of rail level

Nivel superior sina proiectat
Designed top of rail level

- kS
. N Q
e Se QN 3 3 8o
0|53 " N §uwLy 3 &9
T s NN Q N —
o4 mm, — : P N oW ° ~ ©
ol Je g § ~ T o
M o [N (2] R
[72)
= o
Q < < <
C T O N N N O
— N o o o
< |88 & | & |8
- - - o
= SN 5
: a
. (&) =
< & 2 3] | |3
y ©
» Ty £ = © 5
. by < T g 5
", To (7] - v =
] @ s X ~ =
o ™ (& = o 0 o o =
. o =8 22 - x3 5
T o 7 Sitg "2 <88 5
« " ¥ S3% 35 S8 nRRE
. o " - T O > Hoall N 3
(TH . =5 = S R) LL o =
. (7)) Sm= » —_ QO o o
(&) =EHse S TS T o
© = — — D\ = o 2
; o T c c ] o c S )] 5
Z c 3 =} nr© - Q 17}
= 0 Q 5 5 5 — N Ko W o)
- Q| €8 S 0 ® =S 0 S > T N\ X a
C — S8 _m o e o Y ) = p
o = o > — i Q T = ==EYNo
0 e | 5| B c0T VK 85 ™
< S S | = L O o= c S =
b E— = S wn N o
— "y s a o d C
X3 oS =X S
< = O = o 1+ =N + [0}
= CS=n <2< o D~ 2 |w
Z N o T = Q =
< > cE NS (s T) £ a |»
N o O = N 5 3
OR o g = ke B
(14 Y o “ w 5
_m o - = o e |m @
" (1)) © 2| o
o= = m S RN o |O] (2|8
S < X N O =&
OR N N ©) 5|3
Iy AN ~ 2|8
w O (SRS 5 ) 38
E X < X 5% 53 |5% g S 3
5 2 < m o m ° I |£35(| 8% = o =
¥ - e E S |88|2g 5 = 3
x * < Z3 33 | >C|aQ c S 2| s
Q Q " Sl ~ o |«
4 O Df/ (] o | x
w O (SR o o
9 '006+ '006+ '006+
_ o5osT o098 000008 + 000°006+61 000°006+6} d 000°006+61
(@) ]
| - :
|
| 9z8'98 | 98098 00068
_ 15898 L1198 00008
_ 9/8'98 | 9c198 000628
| (0 0)
| L0698 | 19198 000008 | = ~
» 2
_ N
~ g °
1]
| F h
8
I
_ @
_ 9z6'98 | 98198 000622
_ 15698 Llz98 000°0S/
|
| 9/6'98 | 9cz'98 602°0- | 000522
_ 10028 | 19298 €120~ (000002 ==
_
o . .
3 _ 9z0'28 | 98798 £12°0- | 000629 L97'7L9+6L L9vvL9+6)
= =D
8 >
£ -
1S 5l o
o | O
8 | 5E |
= ©| D S
3 | ElS g |
=y | o| ® 15028 Lle98 261°0- | 000°059 S 2
R = o] o o
% |5 ]
a) a5 [ 8
Of'» I
| 3 £
pdia]
_\\ 9,028 | 9ce98 1S1°0- | 000529 _
19V 719+61 _| L9V 7L9+61
Lor28| 19e98 0L1°0- [000009 | == _
[e2]
(@) 8
0
~ 8 _
1] m
o (]
S = |
@
1] _
ozL'/8 | 98c98 0,0°0- |000°G.G &
806°GGG+61 _| 806'G55+61
1518 Liv98 620°0- | 000°05G _
|
o
o
o [s2]
2 2|
5 o
2 8
9/128 | 9ev98 2100 [ 000 'sz8 0 S _
v 8 f
) 1
e
3
L0228 | 19v'98 2500 (0007005 | ==
o)) 806'G6Y+61 806'G6V+61
~—
ozz'/8 | 98v98 €60°0 | 000°G.Y
15228 11598 6010 | 000°0S¥
9,218 | 9e598 G010 | 000°GZY
Loez8| 19598 1010 [000°00% | ==
~—
oze'/8 | 98598 9600 | 000°G/€E
1gez8| 11998 2600 [ 000 0s€
9/¢/8 | 9€998 8800 | 000°6Z€E
Lov'28| 19998 €80°0000°00¢ | ==
~—
ozv'/8 | 98998 6.0°0 | 000°6/2
1728 11298 6/0°0 | 000052
9/%18 | 9€298 0200 | 000°S2Z
L0528 | 19298 990000000 | ==
~—
9zs/8 | 98298 2900 [000°G21
16528 11898 1S0°0 | 000°0G}
9,678 9e898 €500 | 00062}
-—
10928 | 19898 6v0°0 (000004 | ==
—
92928 | 98898 S¥0°0| 00062
1598 116798 0v0'0 | 000°0g
9/9'/8| 9¢6'98 8200 | 00052
10228 19698 zLo0-[ ooo0| ==
—
92218 | 98698 250°0- | 000526
1628 L1028 €60°0- | 000°056
912778 9c0'/8 €€1°0- | 000°526
o - g
2 (@)} ¥
R 10828 19028 £91°0- 000006 | == 3
(qV] &
e} o0 =
—
9zg'28 | 98028 621°0- | 00058
1828 LL1/8 ¥61°0- | 000°058
9/8'/8 | 9cL'/8 012'0- | 000°5Z8
10628 | 19128 9zz'0- [oo0008 | ==
o/l ~—
o| ©
9|
Olo
Q©
©| O
£l oz6°/8 | 9818 z¥z’0- 000522
o| »
Slo
8o
ol C
3|2
= 3
Z|lO
16728 Llz/8 8G2°0- | 000062
9/6'/8 | 9cz' .8 v12°0- | 000522 ©
R
@
[{e}
v o
. I
o __ :
.|
o ;
1]
—I x
L0088 | 19228 062°0- (000002 ==
—
9z0'88 | 98z/8 50€0- (000629
15088 | Lle/8 Lz€0- | 000059
9,088 | 9cez8 Le€0- | 000529
Lor'88| 19e8 092°0- [000009 | ==
~—
oz1'88 | 98c/8 881°0- |000°G.S
15188 Liv/8 911°0- | 000°05G
9/188 | 9ev .8 S%0°0- [ 000°GZS
10288 2200 (000005 | ==
~—
922’88 8600 | 000°G.Y
1GZ'88 0/1°0 [000°06¥
9,288 Zv20 [000°Sey
L0€'88 €1€'0|000°00¢ | ==
~—
9z£'88 92€'0 | 000°G/€E
1G£'88 ¥2€0 [ 000 05€
9/£88 zze 0 [ooosze
L0v'88 0ze'0 [000°00€ | ==
~—
9288 6L€°0 |000°6/2
15788 /1€°0 | 000052
9/%'88 GLE0 | 000622
10588 v1€0 (000002 | ==
~—
92588 Z1€0 (000621
15588 0L€0 [000°054
9,588 60€°0 | 00062}
-—
10988 €820 (000004 | ==
—
—|F 929'88 62z'0| 00052
S >
o| ©
9|
Olo
o ©
ol &
E|S
r@ 7]
&3 15988 v87'88| 291°0| 00005
ol C
3|2
=| 3
pd[a)
9/9'88 89588 | 60L°0| 00052
10288 ls988| 0s00| 0000| ==
—
92,88 v€,'88 | 800°0- |000G,6
15288 71888 | 990°0- |000°056
282 126+LL 28T L26+LL
91188 006'88 | ¥zl 0-|000°526 S
S 21
$ 2|
o
\wd nnw m__
o 5 8| _
<
> i §
000°006+/2} 000006+ 1 i 000°006+/}
10888 v86'88 | 281°0-{000006 | == coocoo
N Qeer
T=| S |33 [FK ~
> = > [
2E1 2 180 =
T O =0 |0 O
SE| B |ES|ggr| o
G = > |50 252 &
a & Q 5 |0 ® s c
6| 2 |22E88| T
] = - © X <
B3¢ 3 o= |= 0 O =
2 m 2 £2|8%0 =
S0 | 2 |85 [E26 o
[ X o | —_—
e |8€] 8§ we >3 © _
= c —_
— —_— — m
K = = = © _ Q£
X | 5| ® T = |E Q o — N =
o |88| 8 |55 5. S E £ 2 <
°g Q2 X0 |88 . =20 2 £ < E
= o v g8l (&) .Dlu. w Lt > C
gs| 2 |2. [goa| E T 5 ®© < a © x
BE | E 22 505 2 E o £ > o £ S8
) = m H o 9N IS ® o ® ~ m.v [4v] a 0
2o | £ 55 pm% 2 o v e o o @
go| B |82 g2z & o © D5 » 7T DT x
5 = [oX S = c m — a o a P © © a — ®©
23 — 7 oE® R LV g T8 N g
25 0 =3 |5 E O o £ £ o £
dc | =2 om (2 Oon Qv o0 Non >
> = zZ = n =)
= Z




	Sheets and Views
	Profil longitudinal Firul I-009


